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Guess Paper – 2008

Class – X

Subject – Mathematics
Tcode: CM/ALGMN/07/19  
   Nq: 11       MM :  30
Ta: 1:25 Min                                            Date:   10.11.07            
Test Topics: Algebra, & Mensuration
SECTION:  A (1 marks each)

Q1
In an equilateral triangle of side 24cm, a circle is inscribed, touching its sides. Find the area of the remaining portion of the triangle.         
                     

Q2
Find the  quadratic polynomial, the sum and product of whose zeros are 2 and 3.
Q3
Find the roots of quadratic equation by factorization 
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Q4
Find the sum of first 40 positive integers divisible by 6.
SECTION:  B (2 mark each)
Q5
The path traced by two trains are given by equation 
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SECTION:  C (3 mark each)
Q6
If h, c and V respectively are the height, the curved surface and volume of cone, prove that 
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OR

Right circular cone having diameter 12cm and height 15cm is full of ice-cream. The ice-cream is to be filled in cones of height 12cm and diameter 6cm having a hemispherical shape on the top. Find the number of such cones which can be filled with ice-cream.
Q7
Find cubic polynomial  with the sum, sum of the product of its zeros taken two at a time  and product of its zeros as  2, -7, -14. 
Q8
From Jabalpur Bus stand, if we buy 2 tickets to Katni and 3 tickets to Damoh the total cost is Rs. 46; but if we buy 3 tickets to Katni and 5 tickets to Damoh the total cost is Rs. 74. Find the fares from Jabalpur to Katni and Damoh.
Q9
In a flower bed there are twenty three rose plants in the first row, twenty one in the second, nineteen in the third and so on. There are five plants in the last row. How many rows are there of rose plants ?
SECTION:  C (6 mark each)
Q10
The average score of boys in an examination of a school is 71 and that of girls is 73. The average score of the school in the examination is 71.8. Find the ratio of the number of boys to the number of girls that appeared in the examination.
OR


Solve  by the method of substitution 
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Q11
An open metal bucket is in the shape of a frustum of a cone mounted on hollow cylindrical base made of the same metallic sheet. If the diameters of the two circular ends of the bucted are 45cm and 25cm, the total vertical height of the bucted is 30cm and that of the cylindrical portion is 6cm, find the area of metallic sheet used to make the bucket. Also find the volume of water it can hold. 
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